Fall Harvest
3rd — 5 Grade
1. Beth and Jan both grew watermelons. Beth’s largest watermelon weighs 18 pounds and

Jan’s weighs 26 pounds. What is the difference between the weight of Beth and Jan’s
watermelons? Use words and numbers to support your answer.

2. Only % of Betty’s green bean plants produced any beans. She had a total of 16 green bean
plants. How many of her plants produced beans? Use words and numbers to support your
answer.

3. Farmer Dave has 20 rows of corn. Each row has 50 stalks of corn. Each stalk has 3 ears of
corn. How many total ears of cord does farmer Dave have? Use words and numbers to
support your answer.
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